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SALEM S BustRICT

HSL HALF YEARLY EXAM -2022

CLASS: 12 ACCOUNTANCY

MARKS: 90 ' TIME: 3.00 hirs
PART-A

1. Choose the correct answer with option. 20X | = 20)
1. Statement of affairs is a (a) Stateme ntorincome and expe ndtlun (b) Statement of assets and liabilities ¢)
Summary of cash transactions  (d) Sunumn ol eredit transactions

The amount of credit sales can be computed from (a) Total debtors a/c (L) Total creditors a/e (¢) Bills
receivable a/c (d) Bills payable a’e

[g)

3. Receipts and payments account records receipts and payments of'
(2) Revenue nature only (b) Capital nature only (¢ Both revenne and capital nature  (d) None of the above

4. Legacyisa

(a) Revenue expenditure (b) Capital expenditure (¢) Revenue receipt (d) Capital receipt

In the absence of an agreement amoeng the partners, interest on capital is .

() Notallowed (b) Allowed at bank rate (¢) Allowed @ 5% per annum (d) Allowed @ 6% per annum

6. -Actspecifies the maximum number of partners. (a) Indian Partnership Act, 1932 (b) Indian Companies Act,
2013 (c) Indian Contract Act, 1872 (d) Sale of Goods Act, 1930

7. Which of the following is true? ~
(a) Super profit = Total profit number of years  (b) Super profit = Weighted profit/ number of years
(¢) Super profit = Average profit - Normal profit (d) Super profit = Average profit x Years of purchase.

§.  Theotal capitalised value of a business is Rs. 1,00,000; asscts are Rs. 1,50,000 and liabilitics are Rs. 80,000.
The value of goodwill as per the capitalisation method will be
(2) Rs.\’;!0,000 (b) Rs. 70,000 (c) Rs. 1,00,000 (d) Rs. 30,000

9. Atthe time of admission, the goodwill brought by the new partner may be credited to the capital accounts of
(2) all the partners (b) the old partners (c) the new partner (d) the sacrificing partners

- 10. Select the odd one out-

L
h

(2) Revaluation profit (b) Accumulated loss (c) Goodwill brought by new partner (d) Investment fluctuation fund
11. Onrevaluation, the increase in liabilities leads to
(a) Gain (b) Loss (c) Profit (d) None of these _
12. X, Y and Z were partners sharing profits and losses equally. X died on 1st April 2019. Find out the sharc of X in
the profit of 2019 based on the profit of 2018 which showed Rs. 36,000.
(a) Rs. 1,000 (b) Rs. 3,000 (c) Rs. 12,000 (d) Rs. 36,000
13. At the time of forfeiture, share capital account is debited with i
(a) Face value (b) Nominal value (c) Paid up amount (d) Called up amotint
14. 1f a share of Rs. 10 on which Rs. 8 has been paid up is forfeited. Minimum reissue price is
(a) Rs. .10 per share (b) Rs. 8 per share (c) Rs. 5 per share (d) ks, 2 per share
15. The financial statements do not exhibit
" (a) Non-monetary data b) Past data c) Short term data d) Long term data
16. The term 'fund' refers to ) i
(a) Current liabikities b) Working capital c) leed assets d) Non-current assets
'17. The mathematical expression that provides a measure of the relationship between two i'gures is
called (a) Conclusion (b) Ratio- (c) Model (d) Decision
18. .Proporiion of share holders' funds to total assets is called () Proprictary ratio (b) Capital gearing ratio
(c) Debt equity ratio (d) Current ratio- g _ - "
" 19, Function key F11 is used for - '
(a) Company Features (b) Accounting vouchers (€) Company Confi gurauon (d) None of these
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Salary account comes under which of the following head?
(a) Direct Incomes (b) Direct Expenses (c) Indirect Incomes (d) Indirect Expenses
PART -B
Answer any 7 Questlons Question no. 30 compulsory. (7 X (2= 14)
From the following details, calculate the missing figure:
Capital as on Ist April, 2018 Rs. 40,000; Capital as on 31st March, 2019 Rs. 50,000;
Additional capital Rs. 7,000; Profit for the year Rs.8,000; Drawings during the
What is Subscription.? .
Mathew is a partner who withdrew Rs. 20,000 during the year 2018. Interest on drawings is charged
at 10% per annum. Calculate interest on drawings on 31st December 2018.

- What is acquired goodwill?

What is sacrificing ratio?

Dheena, Surya and Janaki are partners sharing profits and losses in the ratio of 5:3:2. On 31.3.2018,
Dheena retired. On the date of retirement, the books of the firm showed a reserve fund of Rs. 50,000. Pass
journal entry to transfer the reserve fund.

Supreme Ltd. forfeited 100 shares of Rs. 10 each for non—payment of final call of Rs. 2 per share, All these
shares were re-issued at Rs. 9 per share. Calculate the amount transferred to capltal reserve account?
Prepare common-size income statement for the following particulars of Raja Ltd. for the yearended 31st
March 2017

201 6-1 7
Particulars
Rs.
Revenue fram operations 4,50,000
Other Income s 67,500
Expenses 1,35,000 1,35.000

Calculate qmck ratio: Total current liabilities Rs. 2,40,000; Total currcnt assets Rs. 4 50 000; Int}entones
Rs. 70,000; Prepaid expenses Rs. 20,000
What are accounting reports? .
' ' PART-C

Answer any 7 Questions, Question no. 40 compulsory.(7 X 3=21)
From the following details, calculate credit purchases.
Perticulars Rs.
Opening creditors 1,70,000
Purchase :clr.;ms 20,000
Cash paid to nrea.inou 4,50,000
Closing creditors 1.90,000

How will the following appear in the final accounts of Marthandam Women Cultural Assocxallon?

Stock of sports materialson 1.4.2018 Rs.16,000
Sports materials purchased during the year Rs.84,000
Stock of sports materials on 31.3.2019 Rs. 10,000

The capital account of Begum and Fatima on 1st January, 2018 showed a balance of Rs. 50,000 and Rs.
40,000 respectively. On Ist October, 2018, Begum introduced an additional capital of Rs. 10,000 and on
Ist May, 2018 Fatima introduced an additional capital of Rs. 9,000. Calculate interest on capital at 4% p.a.
for the year ending 31st December, 2018.

I'rom the following information, calculate the value of goodwill under annuity method:

(1) Averape profit Rs. 14,000 (1) Normal Profit Rs. 4,000 (iii) Normal rate of return 15%

% (1v) Years of purchase of goodwill §

Pacntvaluc of Rs. 1 for § years at 15% per annum as per the annuity table is 3.352

*

5

1I2ACC-EMP2

Kindly send me your questions and answerkeys to us : Padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

123
n

36.

0.

111
41.

L L
O oo

www.Padasalai.Net _ www.CBSEtips.in

;;:n;: ﬂ:v;‘:fhshl;n;;n a.re)pam-)ers sharing profits and losses in the ratio 01‘3:?, They admit Sa.mn.for 1/.‘_3

List ot any 3 p (I;U\S entirely from A.Jlanlh, Find out the new pmﬁl-sharmg ratio and sacrificing ratio.

Nivetha 14 Ju§ nents made :_n the time of retirement of a partner ina partnership firm. ]
- forfeited 1,000 equity shares of Rs. 10 each for non payment of call of Rs. 4 per share. Of

these 800 shares were roj i SN A
Wrilead Shares were reissued @ Rs. 7 per share, Pass journal entries for forfeiture and reissue.
n€ ashort note on cash flow analysis.

Calculate gross profit ratio
from operations Rs, 2,10,
Mention the commonly

from the following: Revenue from operations Rs. 2,50,000, Cost of revenue
000 and Purchascs Rs. 1,80,000.

used voucher types in Tally.ERP 9.

PART-D

Answer all Questions.(7X 5= 35)

(2) Ananth does not keep his books under double entry system. Find the profit or loss made by him
for-the yearending 31st March, 2019. '

Panticulars 31.3.2018 | 31.3.2019
Ra. Ru.
5,000 - 60,00

Cash at Bank J(Dr.) (Crg
Cash in hand 3,000 4,500 ]
Stack of goods 35,000 45,000 )
Sundry Debtors . 1,00,000 90,000
Plant and Machinery 80,000 80,000
Land and Buildings 1,40,000 1,40,000
§1_m;|ry Crgditqr_s_ 1,70,000 | 1,30,000

Ananth had withdrawn Rs. 60,000 for his personal use. He had introduced Rs. 17,000 as capital for
expansion of his business. Create a provision of 5% on debtors. Plant and machinery is to be depreciated at
10%. [OR] :

(b) Kavin, Madhan and Ranjith are partners sharing profits and losses in the ratio of 4:3:3 respectively.
Kavin retires from the firm on 3 1st December, 2018. On the date of retirement, his capital account shows a
credit balance of Rs. 1,50,000. Pass journal entries if: . ‘

(2) The amount due is paid off immediately. (b) The amount due is not paid immediately. (c) Rs. 1,00,000
ispaid and the balance in future. : gt

2. _(a) Mayiladuthurai Recreation Club gives you the follQ\\ring-detai]s. Prepare Receipts and Payments account

for the year ended 31st March, 2019. —

:;; i Pln.ladm et FTT " Particulars z :
Orcnlngrrnh balince .o 15,000 | Salary of watchman ) S - ' IZ,;:![GF:Q
Opening bank halance 25,000 | Cluh annual day expenaex } ".|:\,n:x: !
: Donatlons reerived 000 Li;;hlrln“ charges ’ 16,508
2 - Sale uf ol eyuipment | 24000 | Entertainnient capensca 10
Refreshment charges 13,000 | Billiards table purchased £ xa0)
Club annual Jx; cnlh-icik:m ' 18.000 | Fxpensce of charity show 3.(!;(1 ;
Canstruction of tennls court 7.000 | Sale of investiments V 12 ﬂ‘)ﬂ '
[OR] Reecipts from charily show 4.000 | Closing cadh balance 12000 . -
Rent pakd ) b RN d .‘

(b). Saranya Ltd. issued 20,000 equity shares of Rs. 10 each to the public at par. The delai_ls.__ofme amount
payable on the shares are as follows: .

On application Rs. 3 per share. On allotment Rs. 4 per share On first and final call Rs. 3 per share

Application money was received on 30,000 shares. Excess application money was refi unded immediately,

Pass journal entries to record the above.

43,

(a). Akash, Bala, Chandru and Daniel are partners in a firm. There is no partnership deed. How will you

deal with the following?

(i) Akash has contributed maximum capital. He demands interest.on capital at 10% per annum,
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{Hl Rala has withdrawn Rs. 3,0{_}0 per month. iher partners ash Rala o pay interest on dmu’i!‘lg.\' u]\ 8%
per annum to the firm. But, Bala did not agree 1o .

(1) Akash demands the profit to be shared in the capital ratio. But, othe
(v ) Ded demands salany atthe rate of Ry 10,000 per manth ag
(v) Loan advanced by Chandru to the firmas Rs. $0,000. e
[OR] (b). Prepare Commonesize balanoe sheet of Mees

s do not agree,

he spends tull time for the business.
demands interest on loan (@ 12% per annuni.
1 Ld. asan 315t March, 2018,
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of 4 yoars purchase of the average profits of ¥years,
(2) Profits for the vears ending 311 e cmber 2016, 2017 and 2018 were Ry 1,75,000, Rs. 1,50,000 and
R, 200,000 respective s (DY A nonere urting income of Ru, 45,000 is included in the profits of the year 2016,
() The clasing stock of the year 2017 was ovenvalued by Rs 30,000 |JOR)
(D) Vrom e 1. Doweng ssemert of profa and doki o

fDeriovton Lad, calculate (1) Gross profit ratio (n) Net profit ratio,
Matement of Profitand Lo

Particelan R,

| Revemue froem operations 2400000

1L Onher imoomse:

Imcowme Howm bevcameny 70,000

ML Total rovenaes (12 11) 2470000

IV Eypemsen:

Porchase of woack-mn-trade 1830000

Clhianpes i imveroties £0,000

E= rlover benefits expense 2,90,000

Ohior expenecs 1,10,000

Prov fxaon for tax 30,000

Total expenses 22.30,0600

V. Profit for the year 2,40,000
(2). Scenu and Snva are partners sharing profits and losses in the ratio of 5:3. In the view of Kowsalya admis
sion. they decrded

(2) To increase the value of building by Rs. 40,000. (b) To bring info record investments at Rs. 10,000, which
have not so far been brought into account. (¢) To decrease the value of machinery by Rs. 14,000 and furniture
by Re. 12,000. (d) To wrile ofT sundry creditors by Rs, 16,000, Pass journal entries and prepare revaluation
account. '

|OR] (b). Explain any five applications of computerised accounting systcm.

(). State the differences between double entry system and incomplete records. (any 5) |OR])

(b)- Record the following transactions in Tally. (a) Devi commenced a business with a capital of Rs, 4,00,000
(b) An account was opened with Indian Bank and deposited Rs. 60,000

(c) Purchased fumiture by paying cash Rs. 15,000

~ {d) Goods purchased on credit from Sumathy for Rs. 50,000 (c) Cash sales made for Rs. 10,000
. (a). State the differences between Receipts and Payments Account and Income and Expenditure

Account. (any 5) |OR] (b). From the following particulars, calculate the Trend percentages of Kavitha Lid.
; Particulars Rs. inthousands

= st 2015-16 ~ 2016-17  2017-18
" Revenue from expendiure 109 125 150
Other Income f 20 : 25 30
Expenses . 100 . 120 100
Income Tax 30% 30% 30%
I 1 12ACC-ENM P4
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